
6 7 7 10

6 7 7 10

6 9 7

6 9 7

13

7

7

10

2

2

5

4

14

12

8
8

11

3

1DRAWING UPDATED.

ITEM NO. PART NO. DESCRIPTION. QTY.
1 -LVB-3823 TRANSIT SPACER PLATE 2
2 P-172/75 M12X 40 THREAD ROLLING BOLT 4
3 -STS-1665 TRANSIT 2013> SAFE-T-STEP 1
4 -STS-1661R BRACKET RH 1
5 -STS-1661L BRACKET LH 1
6 P-150/24 M12 X 100 8
7 P-151/18 M12 PLAIN WASHER 20
8 P-151/17 M10 PLAIN WASHER 8
9 P-152/17 M12 SPRING WASHER 4

10 P-154/8 M12 NYLOC NUT 8
11 P-154/7 M10 NYLOC NUT TYPE T 4
12 P-150/63 M10 X 30 SET SCREW 4
13 P-150/5 M12 X 40 SET SCREW 4
14 -LVB-3972 DROP ANGLE 2
8 7

A

B

23456 1

578 246 13

E

D

C

F F

D

B

A

E

C

-UNLESS OTHERWISE SPECIFIED -
DIMENSIONS ARE IN MM.
-TOLERANCES: 

NO DECIMAL PLACE  0.5
ONE DECIMAL PLACE  0.25
 TWO DECIMALPLACE 0.125

TITLE:

DWG NO:

SHEET 1 OF 2

 32.42 kg

c.hope

Chris Hope 17/09/15

-STS-1660

TECHNICAL DEVELOPMENTS LIMITED
HIGH STREET, ASCOT, BERKSHIRE, SL5 7HP 
Telephone: 01344 624855  Fax: 01344 626237

FINISH:

PROJECT:

MATERIAL:

DRN:

APPD:

DATE:

DATE:

WEIGHT:

-REMOVE ALL BURRS AND SHARP EDGES

THIRD ANGLE
DWG NO:

01
REV:

HOPE SAFE-T-STEP 
FORD TRANSIT 

2013>

REVISION INFOMATION:

SHEET:

-STS-1660



8 7

A

B

23456 1

578 246 13

E

D

C

F F

D

B

A

E

C

-UNLESS OTHERWISE SPECIFIED    
DIMENSIONS ARE IN MM.
-TOLERANCES: 

NO DECIMAL PLACE  0.5
ONE DECIMAL PLACE  0.25
TWO DECIMALPLACE 0.125

TITLE:

DWG NO.

SHEET 2 OF 2

 kg

c.hope

Chris Hope
STS-1660

TECHNICAL DEVELOPMENTS LIMITED
HIGH STREET, ASCOT, BERKSHIRE, SL5 7HP
Telephone: 01344 624855
 Fax: 01344 626237

FINISH:

PROJECT:

MATERIAL:

DRN:

APPD:

DATE:

DATE:

WEIGHT:

-REMOVE ALL BURRS AND SHARP EDGES

THIRD ANGLE
STS-1660
DWG NO. REV:


	Sheet1
	Drawing View1

	Sheet2

